\Orjin Automotive




2

(Orjll‘l Automotive SMART

Steering & Suspension Parts

CABRIO (450,S10L_) (03/2000-01/2004)
@ CITY COUPE (450, S1C)  (07/1998-01/2004)
FORTWO (450) (01/2004-01/2007)

R — e —
L

03858 4 03858

(7 03159 (7 03159)

old Old
7o e omn o vt e 55 oo e -t

' 03160 Stabilizer link 1802004000000 1802004000000 Rear H _ 03855 Control arm 07001V006000000 14141V002000000
complete
- 03161 | Stabilizer link | 0005102V005000000 5102V005000000 M10x1,5-%6.2
mm 7 - 03159 Ball joint 2271V003000005 2271V007000005
H - 03157 Tie rod end 4887v002000000 4887v006000000 -
. 07001V006000000 07001V006000000
- 03857 Bushing -
o 10251v006000000 4684007000000 Part of Part of
= 03858 Axial joint -
Part of Part of
Track Control
o 12533V001000000 4684v008000000 - 03859 1765005000000 1765005000000 Rear
- 03158 Axial joint - arm
Part of Part of
|



(Orjm Automotive SMART

Steering & Suspension Parts

l FORFOUR (454) (01/2004-06/2006)

—* ———

R

2 01908 2 01908
i (6 04480} ?
(7 044813
("5 04476) (4 _02472) ('3 04476)

Old [o][¢]
o oo ks |15 e v - - i

01744 | Stabilizer link | 4543200010 = MR961477 | M10x1,25-324 mm - 04473 | Control am 4013A150 - .
complete-R
. M10x1.25- . 4543300707
H - 01908 | Tie rod end | 4544600205 |  MROTZSOS | LT H : 04480 Bushing S : Small
. 4544600000 . 4543300707 .
H - 04475 Axial joint Part of - - - 04481 Bushing Part of - Big
- o447 | Control am 4013A135 - - - 04476 Ball joint eI - -
complete-L Part of




S

(Orjll‘l Automotive SMART

Steering & Suspension Parts

l FORFOUR (453) (07/2014-->)

1 03888 1 03888

— -

g . ’__“

e o e e e e e o e e e
code code

. 03888 | Stabilizer fink | 4533200089 | 546181179R - - 0g7g | Control am wfo - 4533302000 | 545057345R -
ball joint-L Part of Part of
- 03885 Tie rod end-L | 4533307100 | 485204628R - - oagrg | Contiol arm wfo - 4533303000 | 5450486268 -
ball joint-R Part of Part of
. 03886 | Tie rod end-R | 4533307000 | 485208910R - : 03884 Ball joint 4533302900 | 545057345R -
Part of Part of
o 4534630000 | 485215653R , 4533302900 | 545057345R .
- 03887 | Axial joint : :
' xial joi o R n 03882 Bushing oot of ot of Big
Control am 4533302900 |  545057345R
- 03876 4533302000 |  545057345R - . i
H complete-L n 03883 Bushing Part of Part of Small
Control arm
H - 0877 | e 4533303000 | 545048626R - H - 03889 | Track rod 4533506700 | 555C35270R -
|



Steering & Suspension Parts

l FORTWO COUPE (451) (01/2007-->)

(Orjm Automotive =0 SMART .

FORTWO CABRIO (451) (01/2007-->)

(2 0081 BN 3 03156] (3 03156 BN > 00813]

[o][¢] old
I e e A R

02057 | Stabilizer link | 4513200189 | 4513200189 | M10x1,5-2265 mm 03g51 | Control am wjo - 4518300010 | 4513300010
ball joint Part of Part of
. M10x1 5-Female- - 4513300010 | 4513300010
H 00813 Tie rod end 26087668 | 4513380187 | o H : 03155 Ball joint oot of ot of -
. 4514600151 | 4514600051 . 4513300010 | 4513300010
H - 03156 Axial joint Part of Part of - 03853 Bushing Part of Part of -
n - 03850 ngtr:’p'le?;m 4513300010 | 4513300010 - n - 03854 | Track Control arm| 4513500129 | 4513500129 -




(=)}

(Orjll‘l Automotive SMART

Steering & Suspension Parts

l FORTWO (453) (07/2014-->)

1 03888 1 03888

' - -

ol CODE Description FEATURES oL Description FEATURES
code code

- 03888 | Stabilizer fink | 4533200080 | 546181179R : - oagzg | Conrol am wjo - 4533303100 | 545057345R -
ball joint-L Part of Part of
- 03885 | Tie rod end-L | 4533307100 | 485204628R - : oagrg | Conrol am wjo - 4533303200 | 545048628 -
ball joint-R Part of Part of
- 03886 | Tie rod end-R | 4533307000 | 485208910R - - | 03884 Ball joint 4533303000 | 545057345R -
Part of Part of
o 4534630000 | 485215653R . 4533302900 |  545057345R .
- 03887 | Axial joint : )
' xial join bt of bt of n 03882 Bushing - o Big
Control arm 4533303000 545057345R
- 03876 4533302000 | 545057345R - . i
H complete-L n 03883 Bushing Part of Part of Small
Control arm
n - OTT | oo | 635303200 | 5450486268 - H : 03889 | Track rod 4533506700 | 555C35270R -




